
Solu%ons	
  
Surface	
  Area	
  of	
  Pyramids	
  &	
  Cones	
  

	
  
	
  



SA = ! (10)(10+18.2)
SA =10! (28.2)
SA = 282!m2

SA ! 885.93m2



SA = 1
2
(40)(28.7)+ (10)(10)

SA = 574+100
SA = 674 ft2



SA = 1
2
(32)(12.3)+ (8)(8)

SA =196.8+ 64
SA = 260.8mm2



SA = 2!rl
SA = 2! (11.4)(15.3)
SA = 348.84!in2

SA !1095.912



SA = 1
2
(8.8)(3.1)+ (2.2)2

SA =13.64+ 4.84
SA =18.48in2



SA =17! (17+ 21)
SA = 646!cm2

SA ! 2029.47cm2



l = 142 +102

l = 296
l =17.2in

SA =10! (17.2+10)
SA =10! (27.2)
SA = 272!in2

SA ! 854.51in2

Find	
  the	
  slant	
  height.	
  



LA = 1
2
(60)(9)

LA = 270 ft2



LA = ! (6)(13)
LA = 78!
LA ! 245.04 ft2

245.04 ft2 ÷32 ft2 = 7.66

We	
   need	
   to	
   buy	
   8	
  
bundles	
  of	
  shingles.	
  



P = (12.3)(6)
P = 73.8 ft

SA = 1
2
(73.8)(15.9)+392.9

SA = 586.71+392.9
SA = 979.61 ft2



8	
  m	
  

30	
  m	
  

P = (8)(4) = 32m

LA = 1
2
Pbasel

LA = 1
2
(32)(30)

LA = 1
2
(960)

LA = 480m2



a)LA = 1
2
!

"
#
$

%
&(24)(10)

LA =120in2

b)SA =120+ 27.7
SA =147.7in2

10	
  in	
  

8	
  in	
  



SA = 1
2
Pbasel + Abase

SA = 1
2
(8)(4)+ (2)2

SA =16+ 4
SA = 20cm22	
  cm	
  

4	
  cm	
  



SA	
  of	
  one	
  set	
  =	
  (20	
  cm2)	
  (24	
  pieces)	
  
	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  480	
  cm2	
  

SA	
  of	
  all	
  	
  =	
  (480cm2)	
  (12	
  games)	
  
	
   	
  	
  	
  	
  	
  =	
  5760cm2	
  

5760/	
  400	
  =	
  14.4	
  
He	
  will	
  need	
  15	
  cans	
  of	
  paint.	
  



a)LA = 1
2
Pbasel

LA = 1
2
(50)(15.3)

LA = 382.5in2

b) 50
4
=12.5in

c)Abase = (12.5)
2 =156.25in2

d)SA = 382.5+156.25
SA = 538.75in2

15.3	
  in	
  


